A 1.00-mol sample of an ideal gas (y = 1.40) is carried through the Carnot cycle described in Figure 22.11. At point A, the pressure is 25.0 atm and the temperature is 600 K. At point C, the pressure is 1.00 atm and the temperature is 400 K. (a) Determine the pressures and volumes at points A, B, C, and D. (b) Calculate the net work done per cycle. (c) Determine the efficiency of an engine operating in this cycle.
SOLUTION 
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Since AB s isothermal, AR A

and since BC is adiabatic, PV] =R V!
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Combining these expressions, Vs = {. e
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Solving part (c) before part (b):
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